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. Find the time required for ‘ :
problem 6.13 preparing a job fr : .
diameter and 75 mm long as shown in fig. 6.3. The following da::]is";'itie :feel bar 40 mm in

Cutting speed for turning and boring = 20 m /min,
cutting speed for drilling =30 m/min.

Feed for turning and boring = 0.2 mm/rey.

Feed for drilling = 0.23 mm/rev.

The depth of cut in any operation does not exceed 3 mm.

1 ‘\\>§\\:\5\\\\\:\\\0\\\\\=

(All dimensions are in mm)
Solution. 1. Turning from 40 mm diameter to 35 mm diameter:
D =40 mm
L =75 mm
S =20 m/min.
F =0.2 mm/rev.
We know that
. DN
Cutting speed, S = 1000
7 X40X N
1000
20X 1000
T x40

=159 r.p.m,

——
—

or
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Time required, T, = ——— ‘ R
e T = N &
= L2 =236 min.
0.2%159
2. Drilling a hole of 20 mm diameter:
D =20mm
L =75mm
S = 30 m/min.
F = 0.23 mm/rev.
Now, we know that
: _ aiDN
Cutting speed, S = 1000
aX20XN
0= ———m
3 1000
30x1000
= =477 r.p.m.
nd ax20 P
Time required, T - =
A e LT
= ——75 = (.68 min.
0.23x477 E
3.  Boring the hole from 20 mm diameter to 25 mm diameter for a length of 25 mm:
D =20 mm ;
L =2Smm
S =20 m/min.
F =0.2 mm /rev.
We know that
\ . nDN
Cutting speed, S = ——
utting spee 1000
20 = aX20xN
1000
or N = M =318
rerea r.p.m.
Time required, T; = L
FXN
b 02x318 =0.39 min.

Tedel Hime """—?"uf"red, T =", +To T
= 3 Uy MM\

ek T SR T e ey »
Scanned with CamScanner




